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Topic:- Child Development & Pedagogy (CDP)

1) The method used in memorizing poetry is called:/ Cacoikal g HEH Ugad fafr ot Dl SIldl %:
1. Massed learning/a? Yo W e
2. Distributed learning / TaaRa fRvar

3. Serial memorization / $hTHe HEFATOT
4. Paired Associate learning / Z‘I’ﬁ:ﬁl’ HeIwEN 3fRReET

Correct Answer :-
« Serial memorization / e TEAIOT

2) Strong believers in the ‘Language Relativist Hypothesis’ argue that ./ T TderaTard! uReeu ' Aoga fayiial o1 ad §

1. Language determines perception / TTST ST T e TRT AT B

2. Language determines thought / oTeT IR &Y FeTRa Fedr &

3. Language influences memory / 3TST THIOT NIESEIREIERETGIE
4. Language influences thought / ITST 3R T T HIAT &

Correct Answer :-

« Language determines thought / Wﬁwaﬁﬁ?ﬁﬁﬁaﬂ?ﬁ'%l

3) You are helping a mother to develop a behavioral program to deal with her son Raj who has oppositional defiant disorder. Which of the
following is the MOST significant component of this program?

/ 34 TS HI Y 309 93¢ IS A Fue F T v AagR SrdepH fApRid $37 & Heg $Y @ 8, I &Y i fEhe fewaiidy &1 Fufafad &
Y P T 59 BHHH BT G99 AUl Ueh 8?

1. Strict parenting / ¥d TRART

2. Detention / faRIer

3. Positive reinforcement / HhRTcHR W"T
4. Punishment / HaIT

Correct Answer :-

 Positive reinforcement / GHRIcHER WUT

4) An individual who is lacking in achievement motivation would exhibit J v =afFa fowd W 3yafer f w#H § ag -
wefRida Hm

1. Self-assurance / 3{TH-3TYTT

2. Pessimism / fRTemare

3. Pragmatism / SIdgRdIg

4. Positive outlook / TRRIcHS TSI

Correct Answer :-

« Pessimism / RART2MaTE



1. Recapitulation / HR-hYeT
2. Evaluation / Heiehet
3. Implementation / ATeadet

4. Assessment / 3TTehelel

Correct Answer :-

« Implementation / Fraleaa

6) The RTE Act was enacted in the year: / 3&S JIAfATwT g0 af & CLUN R a9 o
1. 2010

2.2008

3. 2011

4. 2009

Correct Answer :-

« 2009

7) “Jack is a below average student in mathematics’. Which of the following tests would best support he above statement?/ S 0T F vH FAAR
o ¢ ' ArRfRd & § i a1 T8 sWRIFT FUT F Falead THAT FaT §?

1. Intelligence test / E_I;c\'ﬁ Eriti

2. Aptitude test / 3-1'1'_3\-17:[% qretor

3. Achievement test / TSl GYT&TOT

4. Skill based test/ hierel HTETRA gLraToT
Correct Answer :-

« Achievement test / 3TeITet] ITETOT

8) In Pavlov’s famous experiment with the dog, what was the term he used to describe the food for which the dog naturally salivated? / ?’ & Y

uEdld ¥ YRAey FANT #, 97 Usq FlA /T AT HWH 39T 37 Ao F1 o F F v R = a1 Bred e g
FEnfAE § § AR SYHIAT A2

1. Unconditioned response / TaTHTIdd GﬂﬁmT
2. Neutral stimulus / dCEYJ BH:t'ﬂ'CTEF

3. Unconditioned stimulus / TTHTG m
4. Conditioned stimulus / Hﬂﬁﬁa’ ECCARED

Correct Answer :-

« Unconditioned stimulus / €A 3cdIdeh

9) How many pairs of source traits did Cattell identify in his theory of personality? /

FT A IS WiFAcd F Rguia & Wa Faor & fFaa gga Ramw?

10) Teacher eligibility test is an example of which type of test? / fT8T& T qdIaToT fFE YR & G&TT HT TH 3gEI0T 2
1. Aptitude / faTTar



2. Creativity/{l’\_rlﬂ'Q ol c
3. Intelligence /gﬁ;ﬁl’
4. Personality / SaTFdca

Correct Answer :-

o Aptitude / rfaeTar

lopment. / , ¥ & AT ST F1 Gofad FT Fehal Bl

11) may affect a child’s social dev

1. Asthma/ 3TEJHT
2. Chronic Illness / ETIFﬂ' CIEIR
3. Allergies/ ToTSiy
4. Eating habits/EﬂFT ED) ed

Correct Answer :-

o Chronic Illness / E_I’Tl?'ﬁ STARY

12) In a learning friendly environment, the following characteristics are present except ./ 3T & HeJshel qTATEROT #, *

3ramar AT Rdvan sufeua ¥

1. Learner autonomy / et r TarEar

2. Multi-disciplinary approach /ag—%m HECal
3. Teacher monitoring / IRGER: AR GEIR G

4. Flexible process /Fﬁﬁ?ﬂ' CIET

Correct Answer :-

o Teacher monitoring / B E R ARG EIRAGI

13) In a language, the smallest unit that signifies meaning is called / farelt smar A, vt &Y g arelt e S ETI? Fr el
S 8

1. Phoneme / TafieT (Wial#)

2. Syntax / IFT =arw (Reera)
3. Word / QIsg, (a3)

4. Morpheme / &H (FTHTF)

Correct Answer :-

« Morpheme / && (#\Th)

14) Which of the following statements best explains ‘intrinsic motivation’ in the classroom practice? / fFIfaf@a # O -1 HYT FaW JEAH H
'HTARF IO F FEE 3B WG IfoTT FAT 87

1. The teacher encourages autonomy and gives choices to the learners to reach their goals. / fRI8Teh TaTI=AaT FI WcaTfed aXar § IR fenfiat & 37
Fe T TETA & I e &

2. The teacher uses praise and appreciation of a child’s work. / f27&Teh ST & &IH HI TIgAT 3R g R B
3. The teacher gives a short break to have snacks and water. / f1&Ter aA1aT 3R Tl fiat & fOT T Ber 8 &ar gl
4. The teacher provides rules and conditions to complete the task. / f¥aTeh H =l q WA F foar B 3R o e war g

Correct Answer :-

« The teacher encourages autonomy and gives choices to the learners to reach their goals. / {187 FaradT &t Wearfed iar & 3R et & 3oTh
e T IgIA F T e & &

15) Which of the following is not a part of the process of memory? / fRf@T 7 @ i w% A ufpar &1 %’«FHT Hﬁ' %?
1. Storage / HEROT



2. Retrieval / EI_,?TZ wIeT

3. Encoding / E'Eﬁﬂ'%ﬂ
4. Motivation / 90T

Correct Answer :-

« Motivation / 9IUT

16) Which of the following is not part of the quantitative prerequisite for Continuous and Comprehensive Evaluation? / Tdd Ud 9% ﬂm ¥ faw
afaf@a # Fa1 AEeAE qEen &1 e adt 8?2

1. Classrooms / SHeITT
2. Schools / feTeT
3. Teachers / feTeH

4. Curriculum / 9TeIshH

Correct Answer :-
 Curriculum / 9TeIshH

17) Which part of memory involves forgetting unnecessary information in 15-25 seconds? / E_ﬁ' & g o A 15-25 AHs A IHAGTR
STHENY B o ST AT §2

1. Long term memory / Erer-FrolteT F‘F[%
2. Sensory register /| TAGT IS

3. Working memory / Telel Fﬁ[ﬁ

4. Short term memory / W—WH{%

Correct Answer :-

 Short term memory / Hﬂ'—m@{%

18) Infants develop stranger shyness by the age of ____ . /ﬁ"e_; _ 37 9% o @ B a1 aw e REfa wa §
1. Three months / st FLIa

2. One year / Ush a¥

3. Nine months /Fﬁ i

4. Six months / B HgleT

Correct Answer :-

« Six months / 3§ FgleT

19) Deductive method proceeds from : / fITHATcA® A 37 R g &
1. Examples to illustrations / 3GTg0T J geerar i 3

2. Law and rules to observation / Slejst 3R AT & Fqeted $ AR

3. Specifications to generalisations / HTHTH I OT I At $r 3k

4. Observation to examples / i & 3caTgIoT CIKIIEY

Correct Answer :-

+ Law and rules to observation / @hlelel IR ATET O e i IR

20) What is the term used to describe the strong bond between a mother and her child? / At 3R 9% = F fw Holqd TYA FT qUIT A
& fov frw ereg &1 39T R S @2

1. Love / 93T (¢19)
2. Security / &I (R



3. Maternity / Hlcjcd (FeT=E)
4. Attachment / FFAAT (ETHT)
Correct Answer :-

« Attachment / FHAT (FETHT)

21) What type of intelligence would be used when trying to navigate through traffic? laﬁﬁ? # AT A FT FIRNT TS TAT 7T TR
# geftr H1 39AT fFAr Seen?

1. Interpersonal intelligence / KIGNERIERED E_!’aﬁ

2. Intrapersonal intelligence / JRIagFas mﬂ
3. Spatial intelligence / EIIRED Tg'@

4. Naturalistic intelligence / QTaéﬁHn_cna' E_j’aﬁ

Correct Answer :-

« Spatial intelligence / EJIIEER §'@

22) Hereditary factors begin their influence right from the time of of the child./ HQTIF_!"‘FI' FRE T & F AT | A9
THIE YT A g

1. Development / ICEaE

2. Growth / a;c{%

3. Conception / araTereT

4. Early years | IRTEHS ¥

Correct Answer :-

« Conception / AT

23) Constructivism assumes that all knowledge is: / TITdIG Ig§ ATl Tl A AT
1. Constructed from the learner’s previous knowledge. / fRrameft & q‘\éﬁ?ﬁ' = o AT

2. Constructed solely by the learner. / fRrafreft AT Fao HAHAT

3. Transmitted to the learners by the teacher. / fI&TF g@rT et & 9T

4. Acquired solely through personal experience. / SaTFAITT EGEE % HTETH § dhad gred foam §3-IT
Correct Answer :-

« Constructed from the learner’s previous knowledge. / et & qja‘cﬁ =T ¥ AT

24) According to Kohlberg, child may question the social and political beliefs of the parents and elders in moral

development stage. / Hﬂmﬁ'ﬁ?w, g, A R =T & Arar-Rar stk g2t Framfes sik
TSTANTIF ATeIaT3it 9T Farel 367 Gl ¢

1. Post-conventional / W—W

2. Formal conventional / 3ioamRe qRURe
3. Pre-conventional / qﬁ-tmﬁa?

4. Conventional / 9RIRH

Correct Answer :-

« Post-conventional /W—W

25) How will you calculate average marks of students? / 3mT St & itad 3wl &1 a0 I FE

1. Geometric mean/ SACH AET



2. Variance/ 93307
3. Standard deviation/ AT faTeleT

4, Arithmetic mean/ 3o 3itaa

Correct Answer :-

« Arithmetic mean/ 3i&arorg 3 g

26) Generally, all classrooms will have diversity. Identify the dimension that does not present too many problems related to diversity.

/ama’kwmﬁmsﬂ#ﬁﬁwsﬁ’nmmﬁmm@mm#mﬂﬁmaﬂaﬁmaﬁ
FIaT B

1. Cultural background/ Fﬁlﬁ? “[%34@
2. Geographical status/ sitafos Rufa

3. Social beliefs / HTATIGH HIIATT

4. Athletic ability/ g5 FRIaT

Correct Answer :-

+ Geographical status/ $fianfares Eufa

27) Which of the following is a child's attribution to success? / FUfIfAd # & F F Jwaar & fore v o=+ faRwan g2
1. Consistent focus on Learning/m W FINMAR &I FHigd HLr

2. Random focus on self / ¥4 TR & Hiad HAl

3. Maintain worksheets and notes / ®TIUTH (mﬁ'{) 3R :ﬁfﬁ AR HAT

4. Believe in luck / H™@ R Ay w3

Correct Answer :-

« Consistent focus on Learning / 31T W TR €T higd =T

28) As per Cognitive Constructivism, learning is a result of: / HAATCAS (GAEE & HHR, e @F &1 v oo §:
1. Behavioral and Collaborative responses / SIdgR 3R TS gfafsRaTd

2. Assimilation and Accommodation of structures / ERTATIHT HI FATSTT 3R fMara

3. Extrinsic and Intrinsic reinforcement / STl 3R 37aRe WUT

4. Reward and Punishment of actions / W'I'é' P TWEPR iR ez

Correct Answer :-

« Assimilation and Accommodation of structures / TRTIT3T T TATSTT 3T mard

29) Which assessment measures student’s performance against a fixed set of predetermined standards? / mmﬂmqﬁmm
& v Afvad W & Rvey o & eela F1 ATgar §?

1. Norm-referenced assessment / ITHII-TG g sffpa
2. Criterion-referenced assessment / HTeTGS-Te 8 3Tl
3. Diagnostic assessment / Aerfs 3treteT

4. Achievement assessment / 3Tcl[eY] T 3iTeheleT

Correct Answer :-

« Criterion-referenced assessment / AT s-HefaTd 3ol

30) Radha asks her students to make their own questions and write their respective answers for a chapter. A student in which stage of cognitive

development benefits most from the implications of this task? / qUT A aruﬁmsﬁﬁaﬂﬂiﬁmtﬂw T | UY T 3R 94 Hafta
IR e & e 81 | T B, Gy A & 5w wur A 59 o1 & fAfgard & 3a@ st anwfaa gar 82



1. Sensory motor stage / TAGT AT GEAT
2. Concrete operational stage /H‘\T-‘f TiharcaAs 31aer
3. Formal operational stage/m TirarcAs aear

4. Preoperational stage /q‘\é TiehdTcHS 3/aTr

Correct Answer :-

« Formal operational stage /3-ﬁq?-|'lﬁT=F gfraTcAs 3gear

Topic:- General Hindi (L1GH)

1) =MW A "3rem FY geAr B, @ a8 b ve Uit depfa A veafaa g 8, wel i ofv wfr eienifRpa 8Y Wb | aasy ofk Ux] & AdY @5t a1 oY Srer ¥,
3 Aol 1 RER Tay W} 959 T &), o FW A Srofidd fG@ms 3 §... TR, A, UgTs, US... 3o # firg 3roA siaxfaeil #f @ v shda ufdsrar &1 7ikq, T
W @1 U1 g1 TE0 FR A T 1 I§ AT WeS HART AT i AR gET yHh F 1 sreia Suwrvi & uf wma A Juuids 3 wraen o o= famn, < g @t
YR, 3N AT S@URON | ggd FUF Y12 FT YRA BT HIS AT ST 8, ST8T IWGUI, AETHR 3R GRS HUTSil & Welles TS0 H1 3q= sitg=T o Srefam
I ¥ eTaw 8l g2 Ul U s H SiaT gail Ui Us US| SUA S BT YUeuelidhRvl aT 8, oY Ug It WU 8 Al 8, SIel Wiiie Bt 38 W Twpia
& Ffa-RIa Sifhd 789 T1 TR B T §U DTS o, TdI BT W B 61 BIS W, TETS W Fga G el URifres amn ot siadur T welig €, o w wan
T@q §Y B9 3Tt Sita=-arn #Y def-arn o aRue &2 ad §

Srefta A 21 & Ul gg HIaT 3y I F oft 3 o wepet A, Sret Aw1-Uw T TeRT Wely Wepha SR wRwRT B WA @ T U1l 4P AR Iawpt B fbed R
T1g 3Tel 8, R U U Yf¥p &1 U 3uA U i &1 Ugas Y11 €, o 39 U ¥ i 0 & 9 & S 39 304 IR Uhe FId 8, 4 TP 3rollq ave
1 eafars S foY gU 71 % forad €1 "wﬁwsﬁﬁ%#ﬁﬁmﬁ-aﬂhamﬁ%w%uﬁngﬁggﬂmzaﬁ?mwa?ﬁ%aﬁmﬁwﬁﬂuw
Fgar § [ & fft oft Faa uR sroem Az ol o 31 | =1 srgerm Trg ) 71 & oo A F e ot el gk sfder A uRvora s argm, S SR A, W
gduit & BTl # faar 411" Teg YRR P €, v %1 HeR IR[AT F IR H, AT 37 471 ufe 1 v Y wnfifes amamw fewrd e @, o g fadee,
3Rfdg o et Ft UraAT ufaeat~ra gt GATE S €, Wi I THI-THY WX TeX UIAAY F 1Y URA-YfY F ufa ywe o €

IUYe T Bt UG e ID T ¥R $T Sk gargq|

UR: ARBIGTH! Bt e BT U 30 i &Y fraeeT v ugwy g 22
1. fATar-feres

2. FIRARIR

3. FEaATET

4. qREeT

Correct Answer :-

2) =M g *3re F geAr g, O 98 Rk e Rt Wy # yeafaa gt 8, weT R ok Wiy sianfflpa 81 9d | sy 3iv g & ey &Y 91 ) Srer IE),
I el &1 WER Ay WY 954 T8 8, S SR A Srefiad s a4 R TR, 98, UeTe, US... 3w ® fihg 3 siefael # 4 T sda ufdsrar &1 kg, Th
TG B YIS TG U501 X A4 § | I§ F1 7 WA AT i AR IeT Upfa & 37 orefty Iuswun & Uy emra = 'JrHfds it wia=n ot s foan, it g 35t
AR, AR FHIT S@URT & T§d P U2 T WRA PT IS THT 141 8, TGT AHIGV, HETHIR 31X GRIFOIe Huraif & weftes 77w B 3o s 31 ardfan
UM ¥ eTaw 8l g2 Ul U s H SiaT gan i Us 'US’ | SUA S BT UcuelidRvr aT €, oY 98 I8t WU 8 APl 8, SIel Wi Bt 38 W Awpia
P WfA-=I 3ifthd TEd 1 TR B gd §T IS dadl, TSI &1 W $Ya 8 DI W, UETS W Ted g¢ [t UR1dre arm Y siadhut 0 vefg 8, R w aen
@ U g9 AU Sfiaq-arn &1 dtf-arn & aikoe a5 ad 7

3refia W 3 & Ui g UTaAT 30 = § off 3T o1 Wbl A, TR A-UT BT TR0 VY TP SR WRT FT WA A FoT 411 G RGB! 31 ey e ot
TTg 3Tel 8, R U U Yf¥p &1 U 3u9 U i &1 Ugas GATaT €, SR 59 U ¥ i 0 & 9 # S 39 304 IR Yo $Yd 8, 4 TP 3relq ave
1 el SAY foY U 71 a8 forad €1 "wawéﬁ%qﬁg%mﬁ-aﬂhamﬁ%m%uﬁnaﬁgaﬁmzaﬁvﬂmwm%ﬁﬁmﬁwﬁﬂuw
wed § [ 8 foelt Ot o o= 3o 37 et ok 31 A T wq@T Arg | A € 3o 3 & gfera o fbeht gak sfaera A uikura e arg T, s $aR A, W
gdit & BTt # faam 411" 2eg GiRp1 & €, oo IR HeR IRMT F IR F, AfHT 379 %7 Ul &1 v Y enfife smarw fewrd e @, fon g fadwe,
3Rfde SR et Ft UraAT ufareat~ra g1t GATE I €, Wi I THI-THY TR Te¥ UIEAY F 1Y URA-YfH F ufa ywe 3 o€

ST T B UGHR A1 T T U $T IR I3

W §UR U1 b diwt & widr ireftaar 3 3w Bt o fear?
1. @r-argr

2. SETdTer

3. §EpiT

4. wepiar

Correct Answer :-

3) MW IR 31 FI geAT 7, O 98 Rih uw Wit Wpla # yeniad g 8, Wel W o 'wyfr Sienffipd 8 Wd | U SR U] & AdY Bt a1 Y SrenT ¥E,
I Al BT WRER Ay W 9gd T8 7, S HW A Seliad fREms 3 7. URR, A, UsTS, US... uH ® fihg rum siarfdel ®  uas Sida ufdmrar &1 kg, uh
T B Ui HdgAT TE IR Ad &1 TF T HES AR AT i AN uET yphd & 57 ety Syl & ufa wRma A JRrHiET t wraer ot o famn, S g
AR, AR Fatof quron J Tgd fid U2 F1 YR BT HI$ VHT FI1 8, TET I9TA0], HETURA 3R TRV FHUTit & Wt 7 ot 3u sfia= ot arefamn



A § Weas T ga? i Ue y@is A oiar g safed Us e § 39 1 BT Taafieur T €, Y g8 98 U g AT 8, Sel Wiitd P 3 W pha
F Wfa-TId 3ifrd Ted §1 URR B ga §U By dadl, 7¢I BT W= Hea € IS WA, U818 W Ted g [t IRifdre amn & siadut 3 velug 8, R ) oeq
@A §U & AU+t Sia=-ar &Y fid-ar # ufvora 2 aa €1

Srefta & =1 & wfa a5 UraAr o=y A= A oft A 5 Aot N, ST -0 FT MR ey TEpfa R TRT B WA A FIT AT I IRS a1 1 fven iR A
TTq 3Tt 8, RraH T U YT o1 U 309 U {1 Y Uge] AT B, 3R 39 U § YfRp 0 F IR | ol $F 371 ISR UPhe Hd ¢, d U 3ol g
F1 TS 3AY fre gu 71 98 forad €1 wﬁweﬁ%aﬁg@mﬂaﬂm%ﬂ%uﬁ waﬁ?mwaﬁ%aﬁwﬁmﬂw
Fgar § 5 & fft oft Fea uR aromm A=y el ok =1 | =1 s Argem 71 € o A & 3w gﬂ%sﬁsmﬁuﬁmma@m S gyR A, W
gdsil & BTl # faar UT1" W YT & €, Srua A HeR IRMAT F IR F, AT 379 Iw iR &1 v Y wififes amar s e €, R g fadere, At
anﬁaaﬁvrﬁtha%’rm&uﬁwﬁae‘ﬁﬁwﬁﬁ%}ﬁa@ﬁm—mw@w@ﬂu%mm—@%uﬁmaﬁzﬁl

I TR B UgHR -1 UB Y U $T I« qa15¢|

URH: IFRp & Ueg fpad aR A 82

1. AR

2. 3¢ e

3. ST

4, AT A=
Correct Answer :-

. Fex IR

4) =T R 3T B eAT B, @ a8 Rb vw Uit Tplar A vewfad g 8, et R ofiR gfar sianffRpd € 1d | A 3R UR] & Ty B 91d o ST I8,
I il 3T RER Hay +f 959 T8 §, N FWR W sefiad s 3 7. TR, T, UsTS, US... 3 # fhg orvm sierfdel # 4w shda ufsren &1 R4, T
e Bt Wmmmﬁélﬁwmmm%mwm%amW$mwﬁ ARURT B T B 1 3, S g
TR, 3N BT SGYRON | Igd FUT YT? TT YRA BT BIS T/ BT 8, STGT IWYUI, WETHRE 3R TRIOS HUTSH F Wells TS F1 39 siig=T ot Srefaw
TR § Weas T8 ga? i U Y A oidr g sufe Us " ue § 39 g BT Taieur T €, @) 78 981 U €1 g1 €, el Wiie B 38 W Tpia
F WIfA-RI 3ifhd 3gd &1 URR B Fd §U SIS 2adT, A1 3T TRl Fd € BIg WA, UgTs W ged g¢ fBut TRIfvres amn ot siahyr 31 weg 8, o W @en
WA §U &9 3TN Sia=-arn & Fid-arn & ufvora w2 ad #

3refta ¥ =1 & wfa g5 WraAT oy =0 F ot 3t &1 qpelt N, 8T T-UH BT ER Wery TEBiA R TWWRT B WA A ST AT G ARBIaD! 1 fved R A
T1g 3T 8, R U U YfRp &1 U 3uA U i & ugas AT €, o 39 U # YfRp ¥ & 9 # S $9 3UA IR Uhe $Yd ¢, 4 TP 3ol ave
F1 TS 399 T gU &1 98 Rrad §1 "te du® g1 & 1d g3 Heft-waft srom 3= & ufa ggmzaﬁ?mwsﬁt%aﬁﬁﬁﬂﬂw
Pl § [ & foxlt o Foa wR erom =1 fanedt 3w A=1 & =1 waer arg | =1 € orum 3 ¥ sforer ot fbelt IR gfer & uivora e ang T, s iR A, W
gt & grelf # o uT1 w1eg uffes & §, orua % weR IRMr F IR F, A S 3w iR 1 v Y unfiles s g 3 B, R 59 fdwr,
3Rfdg 3R Eht # wraATg ufaeafa it Fars &<t €, S ST THY-TWg W TEY YT F 1Y URA- YA F ufd ywe F f|

ST TR B TgHT 1 ID T U HT I« aa15¢|

TR HRE-YfA F ufa faderg, ft orfdg ok i &t wram frads ary wee g€ 72
1. @Y ARy

2. 3 AT J0F F

3. Helpe{fa &

4. FfoleT &7 &

Correct Answer :-

. T AT

5) AW I "1 HY AT 3, o 76 Rih v Ut Wepfar # uewfaa gt &, et i ofR Wi Siavifird B wd | AT SR Ux) F W'y Y 919 af 1 ¥,
I el BT RER Ty o 9gd TR0 &1, o HW A Srefiad 3@ 3 7. TRR, 7, UeTS, US... U9 § g orom siawfeel ® § uep Sfida ufdern &1 7kq, &
e B mmmmﬁﬁélﬁwmmﬁﬂmﬁ?mwwﬁﬁiaaﬂaﬂum%uﬁmﬁ ARURT B} T B 51 R, S g
YRR, 3N AT GURON | Tgd FUF YT? TT YRA BT BIS T/ BT 8, ST8T IWYUI, WETHRE 3R TRIOS HUTSi & Wells TS F1 31U siig=T B Srefam
TR A WS T8 g? 9 Uw s A Siar gon wafe ue e § A g 31 weaaleRer $e 8, ) g8 981 HUT 8 Adn §, et yia 3 3 W Epha
& Ffa-Ruw 3ifhd T8d €1 TR B T §U DTS o, T4I BT WX B 81 BIS W, T6TS W Fgd 5 fpefl GRIfres ama 1 siadur T8 wefig &, o W wad
@A §Y B9 AUt Sita=-arn #Y df-arn & ufkoa &2 @ §

Sfta § 3 F Uy a5 WIaAT 3 I H o 3 o wwdt R, ST 309 7 TewT Hay WHph SR IR B Wfr & ST UTI G ARSIt B b R F
TTg 3Tl 8, R aH U U YfRp &1 U 3uA U i Y Ygdy gl &, aﬁvwmﬁg&mw%aﬁﬁvﬁwmﬁmmmﬁ% d U 3olig avE
1 3eaTiare =AY forg U B 1 % fraa €1 @ﬁmgﬁ%qﬁg’émﬁmﬁmﬁwé}?uﬁ IR Hgar ey B 3 A A Wiy @R
mgﬁiﬁﬁnﬁﬁﬂﬂﬂﬁm&méﬁﬁnﬁ&h%ﬂﬁqﬁmmlqﬁamﬁ%w%sﬁ's'mag fopaft gk sfoery & ufvorg & arga, S SR A, W
duil & BTl & foar uTi" weg qfFp & €, uq 331 wex IRMAT & IR H, AP I ¢ ulH &1 ve ¥ urithe amamw fewr dar €, R g e, At
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) HordylglcHened
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. wreffeatiemes
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Topic:- Science (SCI)

1) The frequency of wave produced from a device is 50,000 Hz . It is equivalent to: /
TF 4T § 3carfed aver T G 50,000 §EST (Hz) 71 I8 et & waT &
1. 5kHz / 5 fpaees

2.50kHz / 50 fraigdst

3. 500kHz / 500 fheligest



4. 5000kHz / 5000 fohargest
Correct Answer :-

. 50kHz / 50 foages

The following are the pH values of some commonly known solutions:

Substance. pH value.
Acid rain 5.6
Gastric juice. 1.0
Lemon juice 25
Tomato juice 41

Which one of them is the most acidic? /

fArfaf@d $o A e & pH #1 &

e, g AT
3T W 56
AT T 1.0
ofig &1 =@ o
TATE & & 41

A § Bl a8 A Fe 87

1. Acid rain / 37FeT g§T
2. Lemon juice / ?ﬁ's‘l'\ Caee:t
3. Gastric juice / JTHARMT T

4. Tomato juice / THTET HT I

Correct Answer :-
o Gastric juice / AR I

3
) The given distance—time graph shows the motion of two motor bikes X and Y along a straight

road. Which of the following statements is wrong?

&z /= g-we WE ve del Hse F A g Al ans X 3R v & =@ &+
zoifar 81 =i & & sl a7 e &2

distance
Y

time

1. X takes more time than Y to cover a particular distance. /

T PARET gt # 97 I F BT X A Y F 30F TG o
2. 'Y takes more time than X to cover a particular distance. /

T AT gt T a7 & & AT Y & X & s J77 I g
3. Bike X covers more distance than Y. /

qISH X, a5 Y T 39T 30 gl a7 A B
4. Bike X moves faster than the Bike Y. /

STSh X, 915 Y HT 3798 Hf8F dr &
Correct Answer :-

« X takes more time than Y to cover a particular distance. /

T fARET gt & a7 & & fAw X & Y & 3 J77 9T &

4) In the aquatic food chain consisting of crane, phyto planktons, tadpoles and fish , the position of crane is: /

ST |eT &‘I_E'GIT TS IRA (Shel), II6T Tolas (phyto planktons), ¢89Ter 3 AN &, Fa Hr ufy gef-



1. I trophic level / 1 gifSeahar TR
2. II trophic level / 11 Q¥ TR

3. I1I trophic level / ITI Tf¥edr &R
4. 1V trophic level / IV QY TR

Correct Answer :-

« 1V trophic level / IV Q¥ edT TR

5) To teach diverse, difficult to understand concepts in science, a blend of text, audio, animation, video, still images or
interactivity content forms can be used. This method is known as: / EEIGK:] ﬁﬁﬂ', mﬁ # HfSeT rgUROmHT Fr
T ¥ o, tawe, AN, vfadters, Aifza, Ruw e & Bor a1 srafraniaar Rer-awg wot &1 3T
FaT &1 dFar ¢l 59 A & Fer s §:

1. Information and technology communication enabled learning / Seoll 3R Eﬁa?flﬁlﬁ IR geTH Afeers
2. Multimedia approach / HeCIHIf3AT giScapu

3. Documented problem solving / JlT@d JHEAT-GHTETT
4. Video clips / difsar faea

Correct Answer :-

. Multimedia approach / HEIHITSAT gfScHhIT

6) The focal length of a convex mirror in air is 15 cm. When it is immersed in water, the radius of curvature of the mirror will be: /

ag # vF 39« gUor A T F4$ (focal length) 15 ¥l ¥l @ 3/ 9welt # FarAT FTa &, S¥OT & awar A Brear g
1.30 cm/ 30 J

2.7.5cm/ 7.5 9

3.45cm / 45 94

4.15cm /15 I

Correct Answer :-

« 30 cm/ 30 &

7) Lightning conductor is a device used: /
afza ares (AT HsaeX) UF IURIOT HT STAATT AT ST
1. To protect the buildings from the effect of lightning /
SARA! &I dfsd & gd § J9=1 & faw
2. For communication purposes /
IR gAIll & e
3. For forecasting the forth coming lightning and thunder /
et afsa 3R TR (UST) 1 GEFAR ool & faw
4. To store the electric charges produced at the time of lighnting /
fed & Trg Iaifed fagga snawll &) GulRd & & forg
Correct Answer :-

« To protect the buildings from the effect of lightning /

ARG &1 dfsd & werd § F9 & fav

8) Which of the following contains more roughage? /

Arfaf@d ¥ fFEd 31™F Aer IRT (roughage) ART gidar &2



1. Fish / H&eit

2. Milk /gY

3. Leafy vegetables / TR qiswdr
4. Meat /FWW

Correct Answer :-

« Leafy vegetables / TRIGR Tfesat

9) Sethu felt more cold on a metal plate than on a wooden table when she placed her hands on them because: /
A FT 4T & T W aH H AT A Joiol H HAF 37 AGHH I 9 30A TS AT A 3W W @1 F4AH:
1. Wood conducts more heat energy than metal plate. /
FHI), U F Tole H JoT H HUF FEAT Fo T FETlT A B
2. Her body temperature is less than the temperature of the wood and greater than that of the metal plate. /
IGH IRR FHT AHH AHhS! & dUHH I HH 3R U1 F ©e I 4fF g1
3. Wood is more hotter than a metal plate. /
DS, UTg Bl @e b gor A 3 7 gl B
4, Metal plate conducts more heat energy than wood. /

4T & Wie, ddhet Bt ga-T H HRd T Holl b1 Jarad Hat g

Correct Answer :-
« Metal plate conducts more heat energy than wood. /

U1y & We, A BT a1 B e FHIAT Soll B WareH Bl gl

10) Pproteins that regulate all chemical reactions of the body are: /
W S R Y w3t aEfaw ARt & Al = §
1. Blood / T&d

2. Lymph / ordieT

3. Hormones / giAfeT

4. Enzymes / TSITSH

Correct Answer :-

« Enzymes/ TSTSH

11) Which of the following motivates a learner to learn? /| AFfaf@d & & Fia-ar 30IH F AT v et
F WRT Far §7?

1. Interest in the topic / W & 3T

2. Repay / arqd &¥aTr (RT)

3. Lots of homework / 378 ?W
4. Easy questions / 3T HdTel

Correct Answer :-

« Interest in the topic / faw=r & sfr

12) Kelvin is the unit of: /
Ffeas gad 3o &
1. Pressure / Gdld

2. Temperature / dATIHTT



3. Heat / AT
4. Humidity / 3Tém
Correct Answer :-

« Temperature / AT9HTT

13) Automobiles use Batteries (Series of cells) to supply electrical energy for the functioning of the vehicle.

Which one of the following acids is used in such Batteries? /

FEASZT aeat F FAFS & fAv fgga ot 7 rqfed F@ F AT FRIT (@ A y@en) FT 92T T L
W YR F el & FeT & F Fia-ar 3 &1 w21 R Sar @2

1. Phosphoric acid / BIERIRE el

2. Acetic acid / UfAfeed 31T

3. Hydrochloric acid / g8aleelliReh 37Fel

4. Sulphuric acid / HF‘F{?{H'T FeT

Correct Answer :-

« Sulphuric acid / FFCF’JI(W el

14) Choose the incorrect statement among the following. /
frfaf@a & & 3w Fya 1 9T T
1. Metals are electropositive in nature. /
u1q fd & faegd yarcas gid gl
2. Metals are sonorous in nature. /
o1 Tt F et gl ¥
3. Metals reacts with dil. acids to produce hydrogen gas. /
gISSIoteT 3 T 3culeel el & faU erqe o 3Fel & |1y HATRAT A &
4. The oxide formed when metals reacts with oxygen, turns blue litmus to red. /
S g 3ifedeteT & ary JAfRAT H B, a9 InwErss # HATr giar 1 fored A for o fesmd o g S g
Correct Answer :-

« The oxide formed when metals reacts with oxygen, turns blue litmus to red. /

S o1 et & @y AR wc §, a9 smeass & ST BT 81 s A @1 @ foeeEs o gt S g

15) Identify a non-metal which has metallic lustre: /
39 3Tg A TgE &, e arfeas e e ¥
1. Phosphorous / HIThRE

2. Iodine / 3TAENT

3. Sodium / AfETH

4. Sulphur / JeHT

Correct Answer :-

« Todine / 3MAEA

16) The device fitted with an automobile to show the distance travelled by it is called: /
e g@RT AT A TE gt F A F v G a7 F e B amr € 3@ Fa T
1. Speedometer / THBHEI



2. Odometer / 3N3IfAR
3. Lactometer / oiaFaldTe

4, Hydrometer / gT83IHIE
Correct Answer :-

« Odometer / 33 AT

17) The magnitudes of the power of two lenses are 2D each. One of the lenses is convex and the other is concave. If the two lenses are kept in
contact, then what is the focal length of this combination?

Y o1 F F T AT & ITaT HT IRATOT 2D T o6 F F U 3 ¢ N gE Iaqd g1 AR 3 oW F HUF A W@ A §, A 57 Who Y v
TS fhast &2

1. Infinite / 3Telcl
2. Zero / YA
3.4

4.2

Correct Answer :-

« Infinite / 37d

18) The credit of green revolution in our country goes to: /
AR U A gRa wifa &1 49 Iar &

1. Dr. V. Kurien / 1. dT. ?fﬁ'qFf

2. Dr. H.G. Khorana / 3. Td.SiT. @RAT

3. Dr. M.S. Swaminathan / ST. TH.UH. TTHIATT

4. Arya Bhatta / 3T $7ec

Correct Answer :-

« Dr. M.S. Swaminathan / 3T. TH.UH. AT

19) The magnetic effect of electric current was first observed by: /
Rega 4T & Gahrr Terra HY FEWYHA FoT GarT e B o
1. Andrew Ampere / Us'q’\ TFIRR

2. Alessandro Volta / Tordgr dleer

3. Hans Christian Oersted / §= forf¥aaeT 30z

4. Michael Faraday / #Tgehol $hars

Correct Answer :-

« Hans Christian Oersted / g0 Thi¥aa 3NEES

20) The strength of the sea breeze depends on: /

AL AT Y gEsaT 59 W w

1. The temperature difference between the land and the ocean / H\ﬁ 3R qHa F AT F & F AR W
2. The direction at which it blows / sﬂa? gEa1 &7 ferr W

3. The level difference between the ocean and land / Q:I?ia' IR 34‘@' F TR F T F IR T

4. Amount of water vapor present in the atmosphere / aTdTdRUl | ﬁq& SISy &1 JEAT IR

Correct Answer :-

« The temperature difference between the land and the ocean / H\ﬁ 3R qda F AT F T & FR |



21) The power of earthquake is expressed in terms of : /
s A1 e F o o ¥

1. Kelvin scale / Shfede Thel

2. Celsius scale / AfeTad Thel

3. Richter scale / Rarex Thel

4, Romer scale / JHAT Thel

Correct Answer :-

« Richter scale / ReFeT Tt

22) An electrical cell has: /

wF faega da F @9 &

1. Three terminals / el &

2. Only one terminal / 3hdel Teh ciHeTel
3. No terminals / Ehéfé' AT o8l

4. Two terminals / &I €ffeTer

Correct Answer :-

« Two terminals / &I &ffeTel

23) An element ‘X’ has 4 neutrons and 3 protons. Identify the correct valency of the element. /

TF @ X' H 4 wqei AR 3 Weld §1 aca & FE HASHar A ggAa F
1.4
2.3
3.2
4.1

Correct Answer :-

24) Pick the odd one out. /

o fawa g

1. Air / gdaT

2. Mixture of sugar in water / IT=il & 2TFRT T THHOT
3. Mixture of oil in water / 9Teil 3 cieT T fHSOT

4. Cold drinks / 21T o

Correct Answer :-

« Mixture of oil in water / 9isil & el &1 THSOT

25) When the force is doubled and the area is halved, then the pressure will: /

9 9 GU[AT FX AT 1T § AR e Imar FR@;r S g, A

1. Be doubled / a’f‘a__T’o_-lT RESIEE

2. Become one fourth of its original value / 39T qEATASH AT HI Th ﬂﬁ]’l’é’ & SRy
3. Become four times its original value / 39T IIEdTded AT & AR pic ARSIl

4. Be halved / 3{T9T 8 STRAT



Correct Answer :-

« Become four times its original value / 39sT IEdTded AT & AR T g ST

26) When a paste of starch is added to boiling water, the type of system formed is: /

T HS (starch) FT TF U¥C 3qaQ U & 16T ST &, d@F a1 arelt YorTel &7 9FK §:
1. Colloidal solution / SIS TderdeT

2. Suspension / foreieeT

3. True solution / AEATAH TaergeT

4. Dilute solution / ds] e ger

Correct Answer :-

« Colloidal solution / &TelSsel faerTeT

27) When carbon dioxide is dissolved in water, the solution turns .

9 FE SBIHFESS I F g F1ar §, A Feww ggodr gl

1. red litmus to blue / ol Tolead &1 it &

2. blue litmus to red / 7ol Toledmd &T ol &

3.no change in the colour of litmus / eaT & W1 & F IRadsT g
4.into a yellow colour with methyl orange / Afe 3T & @ @l 1 &

Correct Answer :-

« blue litmus to red / Frer foredmq &1 orel &

28) Which one of the following is the appropriate unit which is used to measure the volume of Refined oil taken in a container? /
R & ¥ Fi9-w1 sugea soE ¥ SwEE WA v 9 # aRsHa aa @ A S A & e R s

1. Kilogram / fereitamsr

2. Nanometre / #=itHIex

3.gm/L / TH [ X

4. Litre / ofiexX

Correct Answer :-

« Litre / @feX

29) Which of the following is not a shell fish? /

Frafaf@a & @ FiF-u1 Faaurdy AS (shell fish) FE &2
1. Crabs and bobsters / HehaT 3R dTaFeT

2. Mrigals / 3Tref

3. Oysters / 3iTgEeX

4. Octopus / 3iTereIqd

Correct Answer :-

* Mrigals / FaTel

30) Which of the following is an example for diffusion of a solid into liquid ? /
fEfafRd # ¥ F9-a1 3 F1 R F TAR T TF 30T §?

1. Ink into water / 9Tt & FITET



2. Carbon dioxide into water / Uiy & FIeT SEIHTFASS
3. Oxygen in water / UTall & 3ifrester

4. Copper sulphate into water / 9Tall # FHIIX Tethe

Correct Answer :-

« Copper sulphate into water / IIsit 3 HTI Hothe

31) Which one of the following solids is used as a drying agent in bottles containing medicinal tablets? /
ffaf@a # 9 fre o 1y sitvefir faat a@ Aaal #F oF W@ @ FRE & w9 7 B amar
1. Calcium carbonate / Hfeqagd FEfac

2. Sodium hydroxide / TE3TA gEgiFaEs

3. Quicklime / fS=Tg T

4. Silica gel / faforer siar

Correct Answer :-

« Silica gel / f&fa aer

32) What kind a learner is a child who seems to learn best when carrying out a physical activity related to the subject? /

qg aoar R @E &1 Remdf @ar & S R v & @9fta sifos s A AR gu wed oo dEdn §7
1. Visual / £F (fargf3rer)

2. Aural / FUT (3TRe)

3. Kinesthetic / IIfATAET (FTSA€AEH)

4. Reading/writing / Taat/er@s (DifSarRrsiar)

Correct Answer :-

. Kinesthetic / ITTAHAET (FI3aA¢AeH)

33) The chemical name of washing soda is: / TR WET F TEEAAF aAH &
1. Sodium carbonate / TIf3IH Fafae

2. Sodium hydrogen carbonate / TSITH BIEIISTA Pl

3. Sodium hydrogen sulfate / oifgTw E'IE@\_NH b

4. Sodium sulfate / FIfeTH Jehe

Correct Answer :-

. Sodium carbonate / ZIH Fefaic

34) Which of the following are the objectives for science education at higher primary (V, VI, VII) level? / 359 Wigfa®
(V, VL, VII) ¥R & Ra7or Reanfiat & v fmafaf@a # & sia vF 3qg

1. Observation, induction and deduction. / BRI , 3TITHT IR FeEa

2. Knowledge, comprehension and application. / 3T, §&sT 3R ‘HW

3. Receiving, responding, valuing and organization. / 3TTRaITTgaT, Tfcafshar, H'\c»qiqoo-l 3R Hero
4. Receiving, responding and valuing. / 37TR3mgr, wfafskar 3R ?FLF!?I'IT*?I'

Correct Answer :-

. Knowledge, comprehension and application. / 3TeT, EHST 3 H@WT



If the momentum of a body decreases by 20%, then its kinetic energy will decrease by:/

IfE TF TEG FT @ 20% T AT ¢, A $6F AfST FoAl FA g SATCA:
1.40%
2.18%
3.36%
4. 8%

Correct Answer :-

« 36%

36) Which of the following cannot be used in mixed cropping? /
Arfaf@a # & s svaer AT waa & @& fBFar a1 @@ 82
1. Ragi+ mustard / TP + Fxar

2. Wheat + gram / 9 + dr

3. Wheat + mustard / 31§ + &l

4.Soya bean + pigeon pea / TR + 3REY AT arel

Correct Answer :-

. Ragi+ mustard / 3@ + &3&r

37) Tracking the learning process during the instruction period is which type of evaluation process? /

Rrm witear &1 fd=r eraf¥ ¥ R 3o w31 e UBR &) geaie ufesan 32
1. Formative evaluation / 3iqaiRes H\Fﬂ'ﬁh_rl'

2. Summative evaluation / JFTcHS H\FEITEIT-T

3. Placement evaluation / FUTeleT H\WZIW

4. Diagnostic evaluation / SgaId i

Correct Answer :-

. Formative evaluation / 3fa=mRes :aymm

38) Curriculum is a complete plan for of educational aims. / & I & ¥ fow
UTSaHH b Ul TS 3|

1. implementation / TATeadeT
2. understanding / HST
3. evaluation / ?F!\F&I'IT:IFI'
4, visualization / sheqdT

Correct Answer :-

- implementation / FTATeaTeT

39) Crop rotation is a practice to grow on the same field. /

Y 3(T9< (Crop rotation) T g A o IUS 1 ufthar 31

1. two or more crops together / &I AT &I { 31TH HHA Th AT

2. two or more crops in definite row pattern together/ﬁﬁﬂ?f 9fFd ded F o a1 Y T 31k BEA TR AT
3.all the above / IwRiad wt

4. a leguminous crop between two cereal crops/Eﬂ' 37TTST dTell ! & &IT T el oo



Correct Answer :-

» a leguminous crop between two cereal crops/?.‘ff 37ATST aTell el & &I TFh HelgR Hdel

40) One of the statements made about consumers is incorrect. Identify the same. /
SUHIFITSH & ey H U HYF 7Ted 31 IUD! UgdH Y

1. They cannot manufacture their own food. / d 9T AT T AT Fi?l' F TFhd|
2. Chemical energy is obtained from outside. / TATATAS Fal S8 & Wed - &

3. They do not have chlorophyll. / 3% 918 YuigRd FeRIher) T 81T 8)|

4. They take in CO, and give out O5. / 3 CO, UgUl B % Td 0, Eﬁ@ﬁ %I

Correct Answer :-

« They take in CO, and give out O5. / 9 CO, U5l B % Td 0, ?ﬁ:e;%r %I

41) One of the processes that involves the consumption of CO; is: /
€0, @} @ud ¥ fia uftharel & | e 2:

1. Forest fires / SITTdl ARSI

2. Photosynthesis / UhIRT RG]

3. Respiration / I

4. Combustion of substances / Wiﬁﬁ Yl

Correct Answer :-

« Photosynthesis / UDIRI REGLY]

42) What is meant by intervarietal hybridisation? / m’ﬁ'ﬂﬁ B0 @aaﬁ?a?r Fﬁﬁ%ﬁ?ﬁ) 1 3T e %?
1. Crossing between different genera / AT ST & S HrQeT

2. Crossing between different varieties of plants / gl fr Pea-MeaT reat & g ST

3. Crossing between genetically dissimilar plants / 3TIdR6 ¥0 ¥ SREM et & offa BT

4. Crossing between two different species of the same genus / T B 9 & &) - gonfadt & g wiRe

Correct Answer :-

« Crossing between different varieties of plants/':ﬁiff Fr Bea-Bea FeAT & g Hifker
43) what is the literal meaning of the word “Science”? / "33 XTeg BT WfedP 3 o T %?
1. Experiment / 52131

2. Knowledge / 3TeT

3. Wisdom / E;I,'c{@ﬂ?ﬁ
4. Logic / d®
Correct Answer :-

« Knowledge / 3Tl

44) Three resistors of 12 ohm each are connected in parallel. This combination is connected in series with a combination of two
resistors of 3 ohm each in series. Find the net resistance of this circuit. /

Y% 12 A (ohm) F T 9faius FAWIH 7 ¥ 3 g0 ¥ Ig FAo H@en H 9% 3 A & o) vfadel & wHe=
AT A@er A 3T g §1 50 IRuYT F ey gl AT w

1.10 ohm/ 10 39

2. 5.5 ohm / 5.5 3\



3.42 ohm / 42 3
4. 15 ohm / 15 309

Correct Answer :-

« 10 ohm/ 10 3™

45) Ability to define an event in one’s own words and language is an indicator of : / f&&} a1 P fHd & 3 W) SR HreT A
TRURYT FA T &1 39T TP JIF 8:

1. Providing explanation / TISEIUT UGl el

2. Communication skills / TAR hiereT
3. Value/Attitude / Jed/FIgRT

4. Experimentation /EI@PT

Correct Answer :-

. Communication skills / @R hierer

46) The blackish material of vegetable origin formed by carbonisation under the surface of earth is: /
gedt A T F AN FA @ AT aaefy aE A el aeE & oaw

1. Charcoal / TRl

2. Coke / PR

3. Petroleum / eIl Ts

4, Coal / rIem

Correct Answer :-

« Coal / FIew

47) The near point for a normal eye is at a distance of: /

T 9 A F e e fig &1 gd @
1.30cm  from the eye / =31 ¥ 30 It
2.20 cm from the eye/eﬁﬁ 20 It
3.25cm from the eye/ﬁﬁ@[ZS@ﬂiﬁ
4.23 cm from the eye/efﬂ@f 23 It

Correct Answer :-

e« 25cm from the eye/ﬁﬁ@ 25 ft

48) In accordance with Dale’s Cone of Experience, which of the following media can help a student to retain about 30 percent of his

Iearningexperience?/éﬂ'*aﬁ?mm%W,mﬁﬁﬁﬁmmm@maﬁmm@lﬂw%3o
wferzrd 3t ufautRa $ | dgg B ST 872

1. Youtube / JcI&

2. Orkut / 3R&e

3. Google Plus / 3[aTeT Teld
4. Radio / Xf3ar

Correct Answer :-

« Youtube / JgeIJd
as o

49) A doctor uses a for examining the ear of the patient. / T% Siae? I & BT B! olig HI1 & A€ T
T IUGRT BT 8|



1. concave mirror / 37ddol gUuT
2. concave lens / 3add ol

3. convex mirror / 3del &uoT

4. convex lens / 3Tl oI F

Correct Answer :-
. concave mirror / 3¥ddel gUuT

50) The two forces acting on a body which is floating in a liquid is: /
TP 9 Uerd § RA arelt a¥g W HTH $ arell ) 99 &

1. Buoyant force and frictional force / 3cCelideh el 31X TYOT §o

2. Gravitational force and buoyant force / W o 3R 3ccaEas T

3. Gravitational force and frictional force / WQ'UT goT 3R g9 g

4. Buoyant force and centripetal force / 3c&ildd dcl 3R Ifp=ig 9a

Correct Answer :-

« Gravitational force and buoyant force / '{)IW'IEF@'UT o1 3R Iccaas T

51) The characteristic which helps us to distinguish one sound from another sound having the same pitch and loudness

is ./
fa=twar 8 <t g U™ firg ol IuF WR 9 SHAE a1d U i B 3= @af & iay ugar § "eg Sl §
1. velocity / 3aT
2. amplitude / 3TTITH
3. quality / [OTaTT
4, frequency/ SR
Correct Answer :-
+ quality / F[OTerT

52) A body of mass ‘m’ is moving with a velocity ‘v’ along a straight line. If the mass and velocity are doubled, then
find the ratio of the final kinetic energy to the initial kinetic energy. /

M 'm' B TP qeg T 'v' & 1Y T el a1 & quiar o gt 31 afe sorarm 3R A 3 SR o fean srar @, < sifow
nfas St o e nfast ot &1 srguTa J1a H¥

1. 1:8
2.4:1
3.8:1
4.1:4

Correct Answer :-

.« 81

53) The pitch of the sound is determined by: /
wfy 31 fUg g9 g1 Fruifea ot ot 2:

1. Amplitude / ITITH

2. Intensity/ citerdr

3. Frequency/H@_ﬁf

4. Loudness/ Fsleldl



Correct Answer :-

. Frequency/3ﬂE|Lﬁ-T

54) The derived unit of the physical quantity, which is the product of mass and acceleration is: /
Wfa® T $t Gad SHTS, A G R @RI T UG &

1. pascal / 9T&ehel

2. newton / el

3. joule / SfeT

4, watt / dfc

Correct Answer :-

+ newton / ¥g&al

55) What are the food requirements of dairy animals? /

3 Ul F W aRgHa | 82

1. The feed should include roughages and concentrates in balanced amounts /
@I # el TRT T AT Td el Jegferd 7 7 €1

2. Fresh green grass /
GISIGEURIR]

3. Mixed feed containing dry grass, grams and other roughages /
T U, T SR 3 HieT IRT gad S @

4. Nutritious feed with additives /

TS & 1Y Tes TTe]

Correct Answer :-

» The feed should include roughages and concentrates in balanced amounts /

TTe H HieT IRT ST A1eT Ud WresaT Tgferd A H 8

56) A teacher always introduces the concept of atoms with the same example.This shows he did not consider: / T®

g;waﬁ*mwﬁmw%wumaﬁaﬁmmmwam%lwﬁ@m%%wﬁﬁnwmqﬁ

1. His/her student's previous knowledge. / I IF & Usa NG

2. The new facilities available to him/her. / 38% T Flé' {I’ﬁ?ﬂﬁ 39T g
3. How to update his/her knowledge?/ FTeT a1 O 39se R STw

4. How to keep all the students attentive? / g BET F Gled FO @2

Correct Answer :-

- His/her student's previous knowledge. / I 3 & Usa NG

57) Which of the following can be used for making students independent learners? / frafafaa 9 3 feae Suam
Bl 3t wda Rigndf a9 ¥ forg far o awar 82

1. ICT resources / 3TSHIET TATET

2. Assignment with long answer based questions / &T8 3a1T TR U7 & TTT FAT 3T HF (3ATSAHC)
3. Quiz / IR&ARRY

4. Group discussion / Hmﬁm T

Correct Answer :-



. ICT resources/?ﬂlélfl &I g

58) Since 2014, T.B. related deaths were very uncommon. What does T.B. denote? /

T 2014 7%, e et Ala aga IwEET o AN s & AR oeRa wXar §2
1. Tetanus bacteria /méﬁm

2. Taeniasis / ATl (TBATA)

3. Tetanus toxoid / cead MERIRES

4. Tuberculosis / T&HAT (TISRDellTard)

NG
Correct Answer :-

« Tuberculosis / T&HAT (@m)

G

59) A teacher discusses the difference between textbook theories and current ongoing research on the same subject. This
shows that: / & Rret® & & v W ureageas & Rqumal 3k aaae # o« @ iy & @iT Faw o« =t
T ¢ IE o@ar §

1. Science is tentative / fraiTe, HeMTRI B

2. Science is interdisciplinary / {3, 3=k fawas gl

3. Science is rapidly expanding / @@=, doll ¥ fATAR #X T@T &I

4. Science promotes questioning / T&2Tel, TAT HeT Pl FEmAT ol gl

Correct Answer :-

« Science is tentative / [=TeT, Femfaa &l

60) Which of the following does not reflect features of a well-developed learning objective? / Frafef@a & @ Fla ™
3= aE ¥ Refa e segea it RFavant & gwe & Far

1. The teacher holds tests regularly. / &7 f@afaa ®7 & gdiem 3mAfHT F:=ar gl

2. The teacher performs an experiment before the beginning of a topic. / f1eTer fordlt fawar v L2 T ggol Th 9T
T B

3. The teacher explains a law and their uses. / T8 T f# 3R 3% 3TN AT IEAT FT B

4. The teacher uses a mix of English and the local language in class. / f16Ter e & 3 3R TUETT AT9T & HYOT F v
3T FT &

Correct Answer :-

« The teacher explains a law and their uses. / eTr v IH 3T 3% IYANRET HI ATEAT AT %’I



